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QUESTION 1

Which TWO statements are true when deciding which Oracle Cloud Infrastructure (OCI) region to register an Exadata
Cloud@Customer infrastructure in? (Choose all correct answers)

A. Exadata Cloud@Customer is hosted in a customer data center so the Exadata infrastructure is not registered in an
OCl region.

B. Consider any business policies or regulations that preclude the use of a particular region.

C. Consider the physical proximity of the region you register the infrastructure in to your data center.

D. The Exadata Cloud@Customerregion can be changed after the infrastructure is created.

E. Consider which availability domain (within the region) to create the Exadata Cloud@Customer infrastructure in.

Correct Answer: AB

QUESTION 2

When configuringconnectivity for hosts in the VCN, security lists contain defaults for implementing security rules. Which
TWO additional rules are needed for database systems? (Choose all correct answers)

A. allows SQL*NET traffic from within the VCN

B. allows ONS and FANTtraffic from within the VCN

C. allows SSH traffic from anywhere

D. allows Path MTU Discovery fragmentation messages

Correct Answer: CD

QUESTION 3

What THREE steps must you perform to connect to a MySQL database in the database system by usingSSH and
MySQL Shell?

A. Add an ingress rule for port 20.

B. Instantiate MySQL Shell on the MySQL database system instance.
C. Connect to the MySQL Database Service instance.

D. SSH into the compute instance from your local machine.

E. Start MySQL Shell onthe compute instance.

Correct Answer: BCD
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QUESTION 4

How many DB systems must you provision before you can enable Oracle Data Guard for a virtual machine DB system
database?

A. It depends on how many standby databases you want for your primary database in the Oracle Data Guard
configuration in Oracle Cloud Infrastructure.

B. Three, first for the primary database, second for the standby database, and a third for the staging database in the
Oracle Data Guard configuration.

C. Two for both the primary and standby database, because a DB system with the database that you want to use as the
standby must already exist before you enable Oracle Data Guard.

D. One with the primary database, because a new DB system with the standby database is created and associated with
the primary database when you enable Oracle Data Guard.

Correct Answer: D

QUESTION 5

When you created your development database on Exadata Cloud@Customer, you selected "None" for backup location
during provisioning. You now need to enable automatic backups on the development database with a retention period of
45 days. Which action should you perform?

A. No action can be taken, because a new backup location cannot be set after creation.

B. Change the database backup location to local storage backups and set retention to 45 days.

C. Change the database backup locationto an NFS backup location with a 45-day retention period set.

D. Change the database backup location to Object Storage with the default retention period set.

Correct Answer: A
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